Answer on Question #57352 - Math - Analytic Geometry
Question

Graph the equation below, the graph is scaled 9 high and 9 wide
1. x2-L=1
’ 4

Solution

X2 y2

12722
a=1,b= 2
Vertices: (+1,0)
Co-vertices: (0,+2)
Asymptote: y = i%x
Foci: (+¢,0) = (i\/TO)

Answer:
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a=3,b=2
Vertices: (0, 1+3)

Co-vertices: (£2,0)
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Asymptote: y = £

Foci: (0, +c) = (0, i\/l_S)

Answer:

Solution

FIT


https://pl.wikipedia.org/wiki/Asymptota

2 4
Solution
y2 X2 _,
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a=+2 b= 2

Vertices: (0, i\/Z_)

Co-vertices: (£2,0)

Asymptote: y = i%x = i\/—lix

Foci: (0, +¢) = (0, +,/6)
Answer:
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Solution

a=1,b=3
Vertices: (0,+1)

Co-vertices: (£3,0)
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Asymptote: y = £

Foci: (0, +c) = (0, i\/l_O)

Answer:
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